


2. B F Ui BAT S A2
D 4-+2<2 @ 2-VT<V3-+7
® —-15 > -4 @ —V3-+V10<-v10-3

® V2+1>43+1



3. 5V24- V544 V96 & A3 5HH AVB 2 LrERE 5= it o] o,
A+ B 327

@D 20 @ 19 3 18 @ 17 3 16



4. ax®+24x+9 o] FAATA] B7] 918 a o] 7S Flelet.

YER
=%



5. =
ok o)A AT R E
=2 T_\EQ’] 15—1301_1;()

/’—-a_i\
/ -
1 Ib
I 1
' 1
u 1
: 1
‘ 1
\ 1
. 1
I 1
; I
@ a?
— 2ab 2
+b @ a? -1
@ a2 + b2

@ g2 +92ab + b2 B g2
a® + 2ab



O (x+y)(x-y)(x+1) @ (x+1)(x-y)y-1)
® (x+1)(y-1)(x+y) @ (x+1)(x-1)r-1)
® x2(y-1)



7.

T}S B719] o] A ZolA x = 25 IR ZH= 21 BE TEm)
[a|
H7]
@ x2+2x=0 © (x+2)(x-2)=0

© x2-4x+4=0

® x> +6x-3=0

® (x-1)=1
© 066 206,606 ® 066
® 9,3, 0 ® O, 0, ©






o
=]

oju

® x7ha o AF2olE * = a o]t
® A% FAA fel57t of

© a7b7

A, ya 7t Felsel A7t ek

<
B




10. o5 $AA0A 2v5 9 3V5 7F 1A ot 7S R A B 2]

A7




11. V036 =ax6°]1 V1200 = Vb x 10 & o, ab ©] gt-& F5loiet.

Erab=



12. o3 23 go] @i o] M2 52] Zo]7t 4v3em 9 P®o] Ryt
32Virem® 4 W, o] S F5HH?

4\/§ cm

® V7em @ 2v2cm ® 2+V7cm
@ 3vV2cem ® 3V7cm



13, x= Vit Ly= VE-190, 2 4 2ol g Fopolet

e
-



14. V2= 1414 A, V535 O g2 4 AR Aelel A wheAstelel

e
-



sholat.

_;L



16. x> -3x=7L M, x(x-1)(x-2)(x-3) +4 9] 727

A 28 ® 35 A 63 @ 67 B 140



Feizt.

S

x+y=2x-y=3dm ¥ -2x+1-y* o FZ+

17.






19. /07 + (2V3) - VB (VII- ) —a+5VE o B2 Uiehy

o, a+b 9 T2, a, b= F3F)

@D -15 @ 15 ® -9 @ 9 ® 0



20. a+b=V6,ab=10°]1, (a—b)a®*+ (b—a)b?> =k =2t T 0, k? 2
= ok

@D 20 @ 21 3) 292 @ 23 B 24



A
H

©

)

™

xX=-



22, P2-3x-10=09 FZFZ 2ol 2 +2x+k=029 2L 0, k 9
e e

B
=¥



23. VG0a 7t 47 517] S1e A AR A4 o & Ffeler

w
=¥



24. 8 +ax—15 7} dx—5 2 LPieo] Hold uf, 444 4 o] gHS Fofodal,

Qe



25. x?-2xz+ 7% -y? & AFES|5HH?

@ (x+y+2)(x-y+2) @ (x+y+2)(x-y-2)
@ (x-y+z)(x—y-72) @ (x+y-2)(x-y+72)

® (x+y-z)(x-y-2)



